MA 138 Fall 2021 09/16/2021

Quiz #3

Directions: Carefully read each question below and answer to the best of your ability in the space
provided. You MUST show your work to receive full credit!

1. (3 points) Choose the correct setup for the partial fraction decomposition of

x
(x+1)(x—1)3(x2 +4)
A A + B + C + D n E
T+l (z—1)3  (z—-1)2 z-1 22+4
B. A + B n C n D +Ew+F
z+1 (z—-12 (x—-1)2 =x2-1 22+4
C. A + B + ¢ + D + = + E
z+1 (z—-13 (z—-12 2-1 x-2 x+2
D A B Cx+D

r+1 * (35—1)3+ z? 44
E. None of the above

2. (7 points) Evaluate the following integral:

1
dz.
/w—i—xe

Solution: First, note that

1 1 1 1

r+a?2 z(x+1) z z+1

/ 1 dx:/lda:—/ 1 dx
T+ 2 x z+1

:‘ln|m]—ln\x+1\+0‘

then

T
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=|ln

-+l
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